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Anova: Two-Factor With Replication

Input

Input Range: SF$1:$J821
Rows per sample: 10

Alpha: 0.05
Output options

o Output Range: SL$4

New Worksheet Ply:

& FolE |v|WF : Length FEZFE WA} : Length
2.783433132

El 12.05

. =lo| E0jaQolsict 5210] EofEs
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[B o8 [~ |8+ : Length EZ Wi} : Length

E2 1.1 2.87923601 ]F\Z”l’a'e 1%’3 ggﬁ%%ﬁ
E3 10 3.605551275 (Hf‘o;’ o2) : .
E4 8.55 2.854382595 =
)] 9l-) 9 A 10.425 3315776681
F8A 10.425 3.315776681
Source of Variation A%+ AHE  FHEARSS F P-value F crit
ek 11.25 1 11.250 1.115 0.294 3.974
= 135.85 3 45,283 4.490 0.006 2.732
AYS a3t 6.25 3 2.083 0.207 0.892 2.732
ozt 726.2 72 10.086
Total 879.55 79
s, 4 BE7| YR
12.
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= m==Female == ==Male
i E2 E3 FA
g Flo]¥ v | B : Leng BZ WA} : W : Leng BF W} : WF : Leng BF WA} : W7 : Leng ¥ WA} :
Female 11.5 2.729 11.2 2.960 9.4 3.852 8.1 3.330
Male 126 2728 2.793 10.6 3.231 9 2.191
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y AIEE=0| £=F=2 : Height: O if step at the low (5.75") height, 1if at the high (11.5") height

y 2= BIE £=Z=3: Frequency: the rate of stepping O if slow (14 steps/min), 1if medium (21
steps/min), 2 if high (28 steps/min)

y Fl= MENC| BHEF : Rest HR: the resting heart rate of the subject before a trial, in beats per
minute
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HRHI CHEF 24t 24 (HEE Rl =E38= HSEE A=)
=4 DF eq SS Adji SS Adj MS F P
Height 1 3499.2 1757.3 1757.3 14,98 0.0
Frequency 2 3727.8 40271 2013.6 17.16 0.000
Height+Frequency 2 2106 2137 106.9 0.91 0.416
RestHR 1985.0 1985.0 1985.0 16.92 0.000
QA 23 2698.6 2698.6 117.3
A 29 12121.2
S=10.8319 R-Hxz =77.74% R-Hxz=(=H) = 71.93%
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Flal =Z= HzE

— - [—=K—X—] = g
=AM DF  Seq SS Adj SS Adj MS F P
Height 1 3499.2 3499.2 3499.2 17.93 0.000
Frequency 2 37278 37278 1863.9 9.55 0.001
Height*Frequency 2 2106 2106 105.3 0.54 0.590
QA 24 46B83.6 4683.6 195.1
HH 29 12121.2
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